Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Câu 1: A. imaginary		B. multiply		C. happy		D. hobby
Câu 2: A. complains		B. decays		C. exists		D. controls
Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of primary stress in each of the following questions.
Câu 3: A. industry		B. performance	C. importance		D. provision
Câu 4: A. contain		B. express		C. carbon		D. obey
Mark the letter A, B, C or D to indicate the correct answer to each of the following question.
Câu 5:  Last Sunday is was_______ wet _____ we couldn't go to the movies.
A. so - that	 	 B. as - as	   		C. less - than	 	D. more - than
Câu 6:  Most of the pupils are _____ to pass the examination.
A. enough good		B. good enough		C. too good             	D. very good
Câu 7: He was_____ tired that he slept all day.
 A. such			B. too                        		C. so         		D. very
Câu 8:  "What did you do on Sunday?"  "It was_____ day that I went to the lake".
A. such nice		B. such a nice			C. so nice		D. very nice
Câu 9: Thailand has got _____ beautiful temples  _____millions of  tourists go there every year
A. so ….that                  B. such …for               	C. that…..for                 D. such  ….that        
Câu 10: "I find the local newspaper to be _____ uninformative".
	"Yes, there is hardly any international news".
	A. so	.                            B. such             	  	C. so much	       	 D. such much
Câu 11: “Here, I brought you some flowers from my garden".
	"Thank you. They're_____ beautiful colors".
A. so	              		B. as			C. such		D. too
Câu 12: "Do you know why Erica failed the test?"
	"I don't know. She spent_____ time studying".
A. so          			B. such much	     	C. so much	    	D. much
Câu 13: "Wendy is really tall for her age".
	"She is so tall_____ her friends make fun of her".
A. so	        			  B. as			C. that			D. much

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the following questions.
Câu 14:  The information I got from the assistant was such confusing that I didn’t know what to do.
        A. The				B. such		C. that			D. what to do
   Câu 15: He tried to explain, so she refused     to listen.
A. to explain			B. so			C. refused		D. to listen
Câu 16:  Because the invention of machines such as vacuum cleaners, washing machines, women spend less time doing the housework.
A. Because			B. such as		C. less			D. doing
Mark the letter A, B, C or D to indicate the word CLOSEST in meaning to the underlined word in each of the following questions.
Câu 17: We are conducting a survey to find out what our customers think of their local bus   service.
A. making up                 B. carrying out	C. taking part in	D. responding
Câu 18: We can be sad for what she doesn’t have or grateful for what she has. 
A. great                          B. meaningful	C. pleasant		D. thankful
Mark the letter A, B, C or D to indicate the word OPPOSITE in meaning to the underlined word in each of the following questions.
Câu 19: It is considered improper to wear a short skirt to a formal occasion.
A. special                      B. festive	C. casual	D. seriousGianh.info

Câu 20: Young children are in the majority in the fashion industry.
A. opposition                B. support	C. minority	D. superiority
Mark letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning to the original sentence in each of the following questions.
Câu 21: We couldn’t go out because the weather was so bad.
A. It was so bad a weather that we couldn’t go out.
B. It was such a bad weather that we couldn’t go out.
C. It was so bad weather that we couldn’t go out.
D. It was such bad weather that we couldn’t go out.
Câu 22: If I were taller, I could reach the top shelf.
A. I am not tall enough to reach the top shelf.
B. I am too tall to reach the top shelf.
C. I cannot reach the top shelf because I am very tall.
D. In spite of being tall, I cannot reach the top shelf.
Câu 23: She was so busy that she couldn’t answer the phone.
A. She was very busy that she couldn’t answer the phone.
B. She was too busy to answer the phone.
C. She was too busy not to answer the phone.
D. She was very busy so that she couldn’t answer the phone.
   Câu 24: Tom is not tall, so he cannot become a pilot.
   A. Tom is not too tall to become a pilot.
   B. Tom is not so tall that he cannot become a pilot.
   C. Tom is not tall enough to become a pilot.
   D. Tom is not such a tall person to become a pilot.
Câu 25:  The coffee was too hot for me to drink.
[bookmark: _GoBack]A. The coffee is so hot that I can’t drink it                                                                                                                                  B. The coffee is so hot that I can’t drink.
C. The coffee was so hot that I couldn’t drink it.	
D. The coffee was so hot that I could drink it.



